
S1 
 

Highly Enantioselective and Efficient Synthesis of Flavanones Including 
Pinostrobin through the Rhodium-Catalyzed Asymmetric 1,4-Addition 

 
Toshinobu Korenaga,* Keigo Hayashi, Yusuke Akaki, Ryota Maenishi, Takashi Sakai* 

 
 
 
 

Supporting Information 

 
 
 
 
 

Table of Contents 
Page S2: General information. 
Page S3: Experimental details. 
Page S17: NMR and HPLC charts. 
Page S77: Confirmation of relative conformation of 5aaa. 
Page S81: Cartesian Coordinates of 5aaa. 
Page S83: References. 

 



S2 
 

General information.  
All reactions were carried out under an argon atmosphere with dry solvents under anhydrous conditions, 

unless otherwise noted. Dichloromethane and toluene were purchased from Kanto Chemical Co. and then 

were stored in Schlenk tubes under an argon atmosphere. Acetonitrile and o-xylene were purified by 

distillation prior to use. Reagents were purchased at the highest commercial quality and used without 

further purification, unless otherwise noted. Chromone analogues (2a-2h) were purified by recrystalization 

prior to use. As a usual workup procedure, the reaction mixture was extracted with ethyl acetate (EtOAc). 

The organic layers were dried over Na2SO4, filtrated with suction, and then concentrated under reduced 

pressure. Preparative column chromatography was carried out by using silica gel (Fuji Silysia BW-127 ZH, 

100－270 mesh). 1H NMR and 13C NMR spectra were measured at 400 MHz and 101 MHz, respectively, 

and chemical shifts are given relative to tetramethylsilane (TMS). 19F NMR spectra were measured at 376 

MHz, and chemical shifts are given relative to CCl3F using C6F6 as secondary reference (–162.9 ppm). 



S3 
 

Experimental details. 
General procedure for the 1,4-addition of phenylboronic acid (3a) to chromone (2a).1, 2 

MeO
MeO

PAr2
PAr2

F

F

F

Ar =

O

O

O

O

Ph

[Rh(cod)OH]2/(S)-4

toluene/H2O

(0.5 mol% [Rh], Rh/(S)-4 = 1/1)
PhB(OH)2

(3.5 equiv.)
20 °C, 1 h

O Ph

HO Ph

(S)-1aa
(S)-Flavanone

2a 3a

(S)-MeO-F12-BIPHEP ((S)-4) (2S,4R)-5aaa  

A 20 mL Schlenk flask was flushed with argon and charged with (S)-4 (4.2 mg, 5.1 µmol), [Rh(cod)OH]2 

(1.2 mg, 2.6 µmol), and 0.50 mL of deoxygenated dichloromethane. The mixture was stirred at room 

temperature for 10 min, and then the solvent was removed under reduced pressure. Then, chromone (2a) 

(149 mg, 1.02 mmol), phenylboronic acid (3a) (435 mg, 3.57 mmol), 2.0 mL of deoxygenated toluene and 

1.0 mL of deoxygenated water were added to the Schlenk flask. The resulting mixture was stirred at 20 °C 

for 1 h, and thensaturated aqueous NaHCO3 solution was added to the reaction mixture. The resulting 

mixture was extracted with EtOAc, and treated in a usual manner to give a crude product. The residue was 

purified by silica gel column chromatography (hexane/EtOAc = 8/1) to give (S)-1aa and (2S,4R)-5aaa. 

(S)-1aa: white solid (212 mg, 93% yield, 99.0% ee); mp 77 °C; 1H NMR (400 MHz, CDCl3) δ 2.90 (dd, J = 

2.9, 16.8 Hz, 1H), 3.10 (dd, J = 13.4, 16.8 Hz, 1H), 5.48 (dd, J = 2.9, 13.4 Hz, 1H), 7.04–7.08 (m, 2H), 

7.37–7.53 (m, 6H), 7.94 (dd, J = 1.7, 7.9 Hz, 1H); 13C NMR (101 MHz, CDCl3) δ 44.6, 79.5, 118.1, 120.9, 

121.6, 127.0, 128.7, 128.8, 136.1, 138.6, 161.5, 191.9; IR (KBr) 3352, 3074, 2898, 1691, 1608, 1575, 1464, 

1373, 1298, 1224 and 907 cm-1; [α]D
23 = –66° (c 0.1, CHCl3) {lit.1 [α]D

20 = +67° (c 0.10, EtOH), 99.7% ee, 

(R)}; HPLC (Daicel Chiralcel OD-H, hexane/i-PrOH = 9/1, flow rate = 1.0 mL/min, 254 nm): tR of (S)-1aa; 

8.8 min (99.5%), tR of (R)-1aa; 11.0 min (0.5%).  

(2S,4R)-5aaa: white solid (8.8 mg, 3% yield, 99.0% ee); mp 56–59 °C; 1H NMR (400 MHz, CDCl3) δ 2.37 

(s, 1H), 2.53 (dd, J = 2.9, 13.2 Hz, 1H), 2.59 (dd, J = 11.2, 13.2 Hz, 1H), 4.91 (dd, J = 2.9, 11.2 Hz, 1H), 

6.99–7.03 (m, 2H), 7.27–7.37 (m, 12H); 13C NMR (101 MHz, CDCl3) δ 47.2, 73.5, 75.6, 116.8, 121.1, 

126.1, 127.0, 127.2, 127.6, 127.7, 128.1, 128.2, 128.5, 129.5, 140.3, 147.3, 154.8; IR (KBr) 3348, 3061, 

3034, 2959, 2885, 1954, 1888, 1809, 1607, 1582, 1485, 1454, 1337, 1229, 1121, 1069, 1015, 872, 756 and 

698 cm-1; [α]D
25 = +75° (c 0.1, CHCl3); HPLC (Daicel Chiralcel OD-H, hexane/i-PrOH = 9/1, flow rate = 

1.0 mL/min, 254 nm): tR of (2R,4S)-5aaa; 7.0 min (0.5%), tR of (2S,4R)-5aaa; 10.2 min (99.5%). 

 

 

 



S4 
 

 

(2S)-2,3-Dihydro-2-(4-methylphenyl)-4H-1-benzopyran-4-one (1ab) 1 and 

(2S,4R)-2,4-bis(4-methylphenyl)-3,4-dihydro-2H-1-benzopyran-4-ol (5abb). 

(2S)-2,3-Dihydro-2-(4-methylphenyl)-4H-1-benzopyran-4-one (1ab) and 

(2S,4R)-3,4-dihydro-2,4-bis(4-methylphenyl)-2H-1-benzopyran-4-ol (5abb) were obtained from (S)-4 (4.2 

mg, 5.1 μmol), [Rh(cod)OH]2 (1.2 mg, 2.6 µmol), chromone (2a) (24.8 mg, 0.170 mmol), 

4-methylphenylboronic acid (3b) (116 mg, 0.850 mmol), deoxygenated dichloromethane (0.50 mL) and 

deoxygenated water (0.30 mL) at 20 °C for 1 h by the general procedure described above. 

  
(S)-1ab: white solid (33.2 mg, 82% yield, 99.2% ee); mp 67–69 °C; 1H NMR (400 MHz, CDCl3) δ 2.39 (s, 

3H), 2.86 (dd, J = 2.8, 16.8 Hz, 1H), 3.10 (dd, J = 13.2, 16.8 Hz, 1H), 5.45 (dd, J = 2.8, 13.2 Hz, 1H), 

7.04–7.08 (m, 2H), 7.25 (d, J = 8.0 Hz, 2H), 7.38 (d, J = 8.0 Hz, 2H), 7.51 (ddd, J = 1.8, 7.2, 8.3 Hz, 1H), 

7.93 (dd, J = 1.6, 8.3 Hz, 1H); 13C NMR (101 MHz, CDCl3) δ 21.2, 44.5, 79.5, 118.1, 120.9, 121.6, 126.2, 

127.0, 129.4, 135.7, 136.1, 138.7, 161.6, 192.2; IR (KBr) 3360, 3058, 2891, 1693, 1603, 1578, 1516, 1461, 

1371, 1304, 1226, 1115, 1667, 979, 907 and 810 cm-1; [α]D
23 = –47° (c 0.1, CHCl3) {lit.1 [α]D

20 = +80° (c 

0.29, EtOH), 99.4% ee, (R)}; HPLC (Daicel Chiralcel OD-H, hexane/i-PrOH = 9/1, flow rate = 1.0 mL/min, 

254 nm): tR of (S)-1ab; 7.5 min (99.6%), tR of (R)-1ab; 8.7 min (0.4%). 

 

(2S,4R)-5abb: white solid (3.8 mg, 7% yield, >99% ee); mp 66–69 °C; 1H NMR (400 MHz, CDCl3) δ 2.33 

(s, 3H), 2.35 (s, 3H), 2.37 (s, 1H), 2.45–2.65 (m, 2H), 4.87 (dd, J = 2.2, 11.7 Hz, 1H), 6.94–7.04 (m, 2H), 

7.09–7.38 (m, 10H); 13C NMR (101 MHz, CDCl3) δ 21.0, 21.1, 47.1, 73.4, 75.6, 116.8, 120.9, 126.2, 127.0, 

127.4, 127.6, 128.9, 129.2, 129.4, 137.4, 137.4, 137.9, 144.5, 154.9; IR (KBr) 3366, 3028, 2957, 2920, 

1909, 1609, 1581, 1514, 1485, 1454, 1115, 1076, 1043, 1015, 916, 821, 808, 756 and 725 cm-1; [α]D
25 = 

+117° (c 0.1, CHCl3); HPLC (Daicel Chiralcel AD-H, hexane/i-PrOH = 9/1, flow rate = 1.0 mL/min, 254 

nm): tR of (2S,4R)-5abb; 10.7 min (>99%), tR of (2R,4S)-5abb; 16.3 min (0%); Anal. Calcd for C23H22O2: 

C, 83.60; H, 6.71. Found: C, 83.32; H, 6.78. 

 

 

 

 



S5 
 

 

(–)-2,3-Dihydro-2-(3-methoxyphenyl)-4H-1-benzopyran-4-one (1ac) 3 and 

(2S*,4R*)-2,4-bis(3-methoxyphenyl)-3,4-dihydro-2H-1-benzopyran-4-ol (5acc). 

(–)-2,3-Dihydro-2-(3-methoxyphenyl)-4H-1-benzopyran-4-one (1ac) and 

(2S*,4R*)-3,4-dihydro-2,4-bis(3-methoxyphenyl)-2H-1-benzopyran-4-ol (5acc) were obtained from (S)-4 

(4.2 mg, 5.1 μmol), [Rh(cod)OH]2 (1.2 mg, 2.6 µmol), chromone (2a) (24.8 mg, 0.170 mmol), 

3-methoxyphenylboronic acid (3c) (77.5 mg, 0.510 mmol), deoxygenated dichloromethane (0.50 mL) and 

deoxygenated water (0.30 mL) at 20 °C for 1 h by the general procedure described above.  

  
(–)-1ac: white solid (39.1 mg, 90% yield, 99.6% ee); mp 65–68 °C; 1H NMR (400 MHz, CDCl3) δ 2.89 (dd, 

J = 2.9, 16.8 Hz, 1H), 3.08 (dd, J = 13.2, 16.8 Hz, 1H), 3.84 (s, 3H), 5.46 (dd, J = 2.9, 13.2 Hz, 1H), 6.92 

(ddd, J = 0.8, 2.4, 8.2 Hz, 2H), 7.03–7.07 (m, 4H), 7.38 (t, J = 8.2 Hz, 1H), 7.51 (ddd, J = 1.8, 7.2, 8.2, 1H), 

7.93 (dd, J = 1.6, 8.2 Hz, 1H); 13C NMR (101 MHz, CDCl3) δ 44.6, 55.3, 79.4, 118.2, 114.0, 118.1, 118.3, 

120.7, 121.6, 127.0, 129.9, 136.2, 140.3, 159.9, 161.5, 191.9. IR (KBr) 3360, 3058, 2891, 1693, 1602, 1577, 

1461, 1371, 1304, 1226 and 907 cm-1; [α]D
27 = –28° (c 0.1, CHCl3); HPLC (Daicel Chiralcel OD-H, 

hexane/i-PrOH = 9/1, flow rate = 1.0 mL/min, 254 nm): tR of (S)-1ac; 10.5 min (99.8%), tR of (+)-1ac; 14.7 

min (0.2%). 

 

(2S*,4R*)-5acc: yellow oil (1.4 mg, 2% yield, 99.4% ee); 1H NMR (400 MHz, CDCl3) δ 2.35 (br, 1H), 

2.52–2.61 (m, 2H), 3.79 (s, 3H), 3.80 (s, 3H), 4.92 (dd, J = 3.8, 10.3 Hz, 1H), 6.82–7.03 (m, 8H), 

7.23–7.32 (m, 3H), 7.36 (dd, J = 1.6 Hz, 7.6 Hz, 1H); 13C NMR (101 MHz, CDCl3) δ 47.1, 55.2, 55.3, 73.5, 

75.7, 111.8, 112.8, 113.1, 113.5, 116.8, 118.4, 119.6, 121.1, 127.1, 127.6, 129.2, 129.5, 129.6, 142.0, 149.1, 

154.7, 159.5, 159.8; IR (neat) 3365, 3059, 3070, 3042, 2959, 2921, 1607, 1581, 1508, 1483, 1456, 1228, 

1157, 1076, 1043, 1012, 918, 877, 840 and 758 cm-1; [α]D
28 = +43° (c 0.3, CHCl3); HPLC (Daicel Chiralcel 

AD-H, hexane/i-PrOH = 9/1, flow rate = 1.0 mL/min, 254 nm): tR of (2S*,4R*)-5acc; 17.5 min (99.7%), tR 

of (2R*,4S*)-5acc; 30.0 min (0.3%); Anal. Calcd for C23H22O4: C, 76.22; H, 6.12. Found: C, 75.96; H, 

6.39. 

 

 

 



S6 
 

 

(–)-2,3-Dihydro-2-(2-methoxyphenyl)-4H-1-benzopyran-4-one (1ad).3 

 
(–)-2,3-Dihydro-2-(2-methoxyphenyl)-4H-1-benzopyran-4-one (1ad) was obtained from (S)-4 (4.2 mg, 5.1 

μmol), [Rh(cod)OH]2 (1.2 mg, 2.6 µmol), chromone (2a) (24.8 mg, 0.170 mmol), 2-methoxyphenylboronic 

acid (3d) (310 mg, 2.04 mmol), deoxygenated dichloromethane (0.50 mL) and deoxygenated water (0.30 

mL) at 20 °C for 2 h by the general procedure described above.  

(–)-1ad: yellow oil (35.9 mg, 83% yield, 99.6% ee); 1H NMR (400 MHz, CDCl3) δ 2.91 (dd, J = 12.4, 16.9 

Hz, 1H), 2.98 (dd, J = 3.9, 16.9 Hz, 1H), 3.84 (s, 3H), 5.86 (dd, J = 2.9, 13.2 Hz, 1H), 6.92 (d, J = 8.1 Hz, 

1H), 7.03–7.08 (m, 3H), 7.38 (m, 1H), 7.64 (dd, J = 1.4, 7.8 Hz, 1H), 7.94 (dd, J = 1.4, 7.8 Hz, 1H); 13C 

NMR (101 MHz, CDCl3) δ 43.7, 55.3, 74.6, 110.5, 118.1, 120.9, 121.0, 121.4, 126.4, 127.0, 127.4, 129.4, 

135.9, 155.7, 162.0, 192.7; IR (KBr) 3364, 3036, 3011, 2937, 2928, 2905, 1691, 1683, 1607, 1576, 1495, 

1461, 1463, 1438, 1367, 1321, 1304, 1245, 1227 1149, 1118, 1028, 993, 907 and 756 cm-1; [α]D
25 = –195° 

(c 0.1, CHCl3); HPLC (Daicel Chiralcel OD-H, hexane/i-PrOH = 9/1, flow rate = 0.3 mL/min, 254 nm): tR 

of (+)-1ad; 22.7 min (0.2%), tR of (–)-1ad; 24.7 min (99.8%). 

 

 

 

(S)-2,3-Dihydro-2-(2-naphthyl)-4H-1-benzopyran-4-one (1ae) 4 and 

(2S,4R)-2,4-bis(2-naphthyl)-3,4-dihydro-2H-1-benzopyran-4-ol (5aee). 

(S)-2,3-Dihydro-2-(2-naphthyl)-4H-1-benzopyran-4-one (1ae) and 

(2S,4R)-3,4-dihydro-2,4-bis(2-naphthyl)-2H-1-benzopyran-4-ol (5aee) were obtained from (S)-4 (4.2 mg, 

5.1 μmol), [Rh(cod)OH]2 (1.2 mg, 2.6 μmol), chromone (2a) (24.8 mg, 0.170 mmol), 2-naphthylboronic 

acid (3e) (87.7 mg, 0.510 mmol), deoxygenated dichloromethane (0.50 mL) and deoxygenated water (0.30 

mL) at 0 °C for 0.7 h by the general procedure described above. 

 
(S)-1ae: white solid (38.5 mg, 83% yield, 99.2% ee); mp 96–98 °C; 1H NMR (400 MHz, CDCl3) δ 3.00 (dd, 

J = 2.9, 16.8 Hz, 1H), 3.22 (dd, J = 13.2, 16.8 Hz, 1H), 5.68 (dd, J = 2.9, 13.2 Hz, 1H), 7.09–7.13 (m, 2H), 

7.54–7.63 (m, 4H), 7.90–7.99 (m, 5H); 13C NMR (101 MHz, CDCl3) δ 44.7, 79.8, 118.2, 121.2, 121.9, 

123.9, 125.6, 126.7, 126.8, 127.3, 128.0, 128.4, 129.0, 133.4, 133.6, 136.3, 136.5, 161.8, 192.2; IR (KBr) 

3483, 3051, 2893, 1697, 1607, 1574, 1462, 1396, 1342, 1300, 1221 1148, 1667, 1028 and 907 cm-1; [α]D
27 

= –85° (c 0.1, CHCl3) {lit.1 [α]D = +56.3° (c 0.5, EtOH), 91% ee, (R)}; HPLC (Daicel Chiralcel OD-H, 



S7 
 

hexane/i-PrOH = 9/1, flow rate = 1.0 mL/min, 254 nm): tR of (S)-1ae; 13.7 min (99.6%), tR of (R)-1ae; 21.8 

min (0.4%). 

 
(2S,4R)-5aee: white solid (2.0 mg, 3% yield, 99.2% ee); mp 112–115°C; 1H NMR (400 MHz, CDCl3) δ 

2.47 (s, 1H), 2.71–2.78 (m, 2H), 5.08–5.17 (m, 1H), 7.05–7.12 (m, 2H), 7.34–7.61 (m, 8H), 7.70–7.94 (m, 

8H); 13C NMR (101 MHz, CDCl3) δ 47.1, 73.7, 75.8, 116.9, 121.3, 123.9, 124.4, 125.1, 126.1, 126.2, 126.3, 

126.4, 127.0, 127.2, 127.5, 127.7, 127.8, 128.0, 128.4, 128.4, 128.5, 129.7, 132.7, 132.8, 133.1, 133.2, 

137.7, 122.6, 154.9; IR (KBr) 3308, 3055, 2958, 2922, 2853, 1921, 1708, 1630, 1603, 1582, 1506, 1483, 

1454, 1352, 1279, 1227, 1126, 1080, 1043, 1018, 922, 901, 860 and 746 cm-1; [α]D
19 = +223˚ (c 0.2, 

CHCl3); HPLC (Daicel Chiralcel OD-H, hexane/i-PrOH = 9/1, flow rate = 1.0 mL/min, 254 nm): tR of 

(2R,4S)-5aee; 12.2 min (0.4%), tR of (2S,4R)-5aee; 20.8 min (99.6%); Anal. Calcd for C29H22O2: C, 86.54; 

H, 5.51. Found: C, 86.50; H, 5.86. 

 
 

 

(–)-2,3-Dihydro-2-(4-fluorophenyl)-4H-1-benzopyran-4-one (1af) 5 and 

(2S*,4R*)-2,4-bis(4-fluorophenyl)-3,4-dihydro-2H-1-benzopyran-4-ol (5aff). 

(–)-2,3-Dihydro-2-(4-fluorophenyl)-4H-1-benzopyran-4-one (1af) and 

(2S*,4R*)-3,4-dihydro-2,4-bis(4-fluorophenyl)-2H-1-benzopyran-4-ol (5aff) were obtained from (S)-4 (4.2 

mg, 5.1 μmol), [Rh(cod)OH]2 (1.2 mg, 2.6 µmol), chromone (2a) (24.8 mg, 0.170 mmol), 

4-fluorophenylboronic acid (3f) (357 mg, 2.55 mmol), deoxygenated dichloromethane (0.50 mL) and 

deoxygenated water (0.30 mL) at 10 °C for 2 h by the general procedure described above. 

 

(–)-1af: colorless oil (32.9 mg, 80% yield, 99.8% ee); 1H NMR (400 MHz, CDCl3) δ 2.87 (dd, J = 2.9, 16.8 

Hz, 1H), 3.08 (dd, J = 13.3, 16.8 Hz, 1H), 5.46 (dd, J = 2.9, 13.3 Hz, 1H), 7.03–7.15 (m, 4H), 7.45–7.53 (m, 

3H), 7.93 (dd, J = 1.6, 8.2 Hz, 1H); 13C NMR (101 MHz, CDCl3) δ 44.6, 78.8, 115.7 (2JF-C = 21.5 Hz), 

118.0, 120.6, 121.7, 127.0, 128.0 (3JF-C = 8.9 Hz), 134.5 (4JF-C = 2.9 Hz), 136.2, 161.3, 162.7 (1JF-C = 246 

Hz), 191.6; 19F NMR (376 MHz) δ –114.0 to –113.9 (m, 1F); IR (KBr) 3364, 3074, 2899, 1894, 1693, 1605, 

1578, 1464, 1367, 1304, 1226 1117, 1069, 1028, 989 and 907 cm-1; [α]D
27 = –45° (c 0.1, CHCl3); HPLC 

(Daicel Chiralcel OD-H, hexane/i-PrOH = 9/1, flow rate = 0.5 mL/min, 254 nm): tR of (–)-1af; 15.2 min 



S8 
 

(99.9%), tR of (+)-1af; 16.8 min (0.1%).  

 
(2S*,4R*)-5aff: white solid (1.2 mg, 2% yield, >99% ee); mp 72–77 °C; 1H NMR (400 MHz, CDCl3) δ 

2.33 (s, 1H), 2.43–2.59 (m, 2H), 4.86 (dd, J = 2.3, 11.7 Hz, 1H), 6.94–7.07 (m, 6H), 7.24–7.36 (m, 6H); 13C 

NMR (101 MHz, CDCl3) δ 47.5, 73.1, 75.0, 115.0 (2JF-C = 21.7 Hz), 115.5 (2JF-C = 21.7 Hz), 116.8, 121.4, 

126.9, 127.5, 127.9 (3JF-C = 8.3 Hz), 128.9 (3JF-C = 8.2 Hz), 129.7, 140.0 (4JF-C = 3.0 Hz), 143.1 (4JF-C = 3.3 

Hz), 154.6, 162.2 (1JF-C = 246.9 Hz), 162.3 (1JF-C = 246.8 Hz); 19F NMR (376 MHz) δ –116.0 to –115.9 (m, 

1F), –115.1 to –115.0 (m, 1F); IR (KBr) 3375, 3072, 3039, 2959, 2922, 1892, 1606, 1582, 1508, 1483, 

1456, 1416, 1408, 1227, 1157, 1121, 1076, 1043, 1015, 878 and 758 cm-1; [α]D
20 = +59° (c 0.2, CHCl3); 

HPLC (Daicel Chiralcel AD-H, hexane/i-PrOH = 9/1, flow rate = 1.0 mL/min, 254 nm): tR of 

(2S*,4R*)-5aff; 10.2 min (>99%), tR of (2R*,4S*)-5aff; 16.0 min (0%); Anal. Calcd for C21H16F２O2: C, 

74.55; H, 4.77. Found: C, 74.16; H, 5.04. 

 

 

 

(–)-2,3-Dihydro-2-(3-fluorophenyl)-4H-1-benzopyran-4-one (1ag) 6 and 

(2S*,4R*)-2,4-bis(3-fluorophenyl)-3,4-dihydro-2H-1-benzopyran-4-ol (5agg). 
(–)-2,3-Dihydro-2-(3-fluorophenyl)-4H-1-benzopyran-4-one (1ag) and 

(2S*,4R*)-3,4-dihydro-2,4-bis(3-fluorophenyl)-2H-1-benzopyran-4-ol (5agg) were obtained from (S)-4 

(4.2 mg, 5.1 μmol), [Rh(cod)OH]2 (1.2 mg, 2.6 μmol), chromone (2a) (24.8 mg, 0.170 mmol), 

3-fluorophenylboronic acid (3g) (309 mg, 2.21 mmol), deoxygenated toluene (0.50 mL) and deoxygenated 

water (0.30 mL) at 40 °C for 2 h by the general procedure described above.  

  
(–)-1ag: colorless oil (33.1 mg, 80% yield, 99.0% ee); 1H NMR (400 MHz, CDCl3) δ 2.88 (dd, J = 2.9, 16.8 

Hz, 1H), 3.04 (dd, J = 13.3, 16.8 Hz, 1H), 5.46 (dd, J = 2.9, 13.3 Hz, 1H), 7.04–7.09 (m, 3H), 7.22–7.25 (m, 

2H), 7.39–7.42 (m, 1H), 7.50–7.53 (m, 1H), 7.93 (dd, J = 1.6 Hz, 8.2 Hz, 1H); 13C NMR (101 MHz, 

CDCl3) δ 44.6, 78.6, 113.1 (2JF-C = 22.3 Hz), 115.5 (2JF-C = 20.8 Hz), 118.1, 120.9, 121.5 (3JF-C = 3.0 Hz), 

121.8, 127.1, 130.4 (4JF-C = 8.2 Hz), 136.3, 141.2 (4JF-C = 7.5 Hz), 161.2, 162.7 (1JF-C = 246 Hz), 191.6; 19F 

NMR (376 MHz) δ –113.0 to –112.9 (m, 1F); IR (neat) 3364, 3074, 2899, 1894, 1693, 1605, 1578, 1464, 

1367, 1304, 1226 and 907 cm-1; [α]D
25 = –66° (c 0.1, CHCl3); HPLC (Daicel Chiralcel OD-H, 



S9 
 

hexane/i-PrOH = 9/1, flow rate = 1.0 mL/min, 254 nm): tR of (–)-1ag; 7.7 min (99.5%), tR of (+)-1ag; 9.3 

min (0.5%).  

 

(2S*,4R*)-5agg: yellow oil (3.7 mg, 6% yield, 97.2% ee); 1H NMR (400 MHz, CDCl3) δ 2.31 (s, 1H), 

2.59–2.48 (m, 2H), 5.44 (dd, J = 4.7, 9.4 Hz, 1H), 6.96–7.13 (m, 8H), 7.28–7.36 (m, 4H); 13C NMR (101 

MHz, CDCl3) δ 47.3, 73.1, 74.8, 113.1 (2JF-C = 22.3 Hz) , 114.2 (2JF-C = 23.1 Hz), 114.8 (2JF-C = 20.8 Hz), 

115.0 (2JF-C = 20.8 Hz), 116.9, 121.5, 121.5 (4JF-C = 2.9 Hz), 122.8 (4JF-C = 3.0 Hz), 126.6, 127.5, 129.7 

(3JF-C = 8.2 Hz), 129.9, 130.1 (2JF-C = 8.1 Hz), 142.8 (3JF-C = 7.4 Hz), 149.8 (3JF-C = 5.9 Hz ), 154.5, 162.7 

(1JF-C = 250 Hz), 162.9 (1JF-C = 245 Hz); 19F NMR (376 MHz) δ –113.7 to –113.5 (m, 2F); IR (neat) 3367, 

3077, 3042, 2959, 2920, 1896, 1607, 1582, 1510, 1483, 1456, 1412, 1362, 1229, 1158, 1074, 1043, 1013, 

918, 879, 840 and 758 cm-1; [α]D
19 = +42° (c 0.07, CHCl3); HPLC (Daicel Chiralcel OD-H, hexane/i-PrOH 

= 9/1, flow rate = 0.5 mL/min, 254 nm): tR of (2R*,4S*)-5agg; 12.7 min (1.4%), tR of (2S*,4R*)-5agg; 15.2 

min (98.6%); Anal. Calcd for C21H16F２O2: C, 74.55; H, 4.77. Found: C, 74.28; H, 4.96. 

 

 

 

(S)-6-Chloro-2,3-dihydro-2-phenyl-4H-1-benzopyran-4-one (1ba) 1 and  

(2S,4R)-6-chloro-3,4-dihydro-2,4-diphenyl-2H-1-benzopyran-4-ol (5baa). 

(S)-6-Chloro-2,3-dihydro-2-phenyl-4H-1-benzopyran-4-one (1ba) and  

(2S,4R)-6-chloro-3,4-dihydro-2,4-diphenyl-2H-1-benzopyran-4-ol (5baa) were obtained from (S)-4 (4.2 mg, 

5.1 μmol), [Rh(cod)OH]2 (1.2 mg, 2.6 μmol), 6-chlorochromone (2b) (30.7 mg, 0.170 mmol), 

phenylboronic acid (3a) (104 mg, 0.850 mmol), deoxygenated dichloromethane (0.50 mL) and 

deoxygenated water (0.30 mL) at 40 °C for 1.5 h by the general procedure described above. 

 

(S)-1ba: white solid (38.0 mg, 86% yield, 99.6% ee); mp 102–103 °C; 1H NMR (400 MHz, CDCl3) δ 2.87 

(dd, J = 2.9, 17.0 Hz, 1H), 3.05 (dd, J = 13.2, 17.0 Hz, 1H), 5.44 (dd, J = 2.9, 13.2 Hz, 1H), 6.99 (d, J = 8.8 

Hz, 1H), 7.36–7.47 (m, 6H), 7.86 (d, J = 2.6 Hz, 1H); 13C NMR (101 MHz, CDCl3) δ 44.1, 79.7, 119.8, 

121.6, 126.0, 126.2, 127.0, 128.8, 128.9, 135.8, 138.1, 159.8, 190.6; IR (KBr) 3336, 3063, 1681, 1601, 

1501, 1456, 1383, 1317, 1275 1213, 1132, 1062, 989, 908, 893 and 766 cm-1; [α]D
27 = –23° (c 0.1, CHCl3) 

{lit.1 [α]D
20 = +40° (c 0.20, EtOH), 99.4% ee, (R)}; HPLC (Daicel Chiralcel OD-H, hexane/i-PrOH = 9/1, 



S10 
 

flow rate = 1.0 mL/min, 254 nm): tR of (S)-1ba; 9.7 min (99.8%), tR of (R)-1ba; 12.5 min (0.2%). 

 
(2S,4R)-5baa: white solid (4.3 mg, 8% yield, 97.6% ee); mp 51–56 °C; 1H NMR (400 MHz, CDCl3) δ 2.38 

(s, 1H), 2.49–2.59 (m, 2H), 4.88 (dd, J = 4.6, 9.6 Hz, 1H), 6.87 (d, J = 8.8 Hz, 1H), 7.20–7.41 (m, 11H), 

7.50 (d, J = 2.1 Hz, 1H); 13C NMR (101 MHz, CDCl3) δ 46.7, 73.4, 75.8, 118.2, 125.9, 126.0, 126.9, 127.4, 

127.9, 128.2, 128.3, 128.5, 128.7, 129.5, 139.8, 146.6, 153.4; IR (KBr) 3368, 3061, 3032, 2959, 2919, 1954, 

1884, 1811, 1607, 1603, 1574, 1479, 1448, 1412, 1357, 1261, 1231, 1126, 1091, 1018, 922, 860, 818, 758 

and 698 cm-1; [α]D
21 = +49° (c 0.2, CHCl3); HPLC (Daicel Chiralcel OD-H, hexane/i-PrOH = 9/1, flow rate 

= 1.0 mL/min, 254 nm): tR of (2R,4S)-5baa; 6.8 min (1.2%), tR of (2S,4R)-5baa; 9.3 min (98.8%); Anal. 

Calcd for C21H17ClO2: C, 74.89; H, 5.09. Found: C, 74.56; H, 5.36. 

 

 

 

(S)-6-Broro-2,3-dihydro-2-phenyl-4H-1-benzopyran-4-one (1ca) 1 and  

(2S,4R)-6-bromo-3,4-dihydro-2,4-diphenyl-2H-1-benzopyran-4-ol (5caa). 
(S)-6-Broro-2,3-dihydro-2-phenyl-4H-1-benzopyran-4-one (1ca) and  

(2S,4R)-6-bromo-3,4-dihydro-2,4-diphenyl-2H-1-benzopyran-4-ol (5caa) were obtained from (S)-4 (2.4 mg, 

3.0 μmol), [Rh(cod)OH]2 (0.68 mg, 1.5 μmol), 6-bromochromone (2c) (22.5 mg, 0.100 mmol), 

phenylboronic acid (3a) (122 mg, 1.00 mmol), deoxygenated dichloromethane (0.50 mL) and 

deoxygenated water (0.30 mL) at 35 °C for 3 h by the general procedure described above. 

  

(S)-1ca: white solid (24.5 mg, 81% yield, >99% ee); mp 127–129 °C; 1H NMR (400 MHz, CDCl3) δ 2.87 

(dd, J = 2.9, 17.0 Hz, 1H), 3.05 (dd, J = 13.2, 17.0 Hz, 1H), 5.44 (dd, J = 2.9, 13.2 Hz, 1H), 6.99 (d, J = 8.2 

Hz, 1H), 7.36–7.47 (m, 6H), 7.86 (d, J = 2.6 Hz, 1H); 13C NMR (101 MHz, CDCl3) δ 46.7, 73.4, 75.8, 

118.2, 125.9, 126.0, 126.9, 127.4, 127.9, 128.2, 128.3, 128.5, 128.7, 129.5, 139.8, 146.6, 153.4; IR (KBr) 

3350, 3058, 2891, 1693, 1602, 1577, 1461, 1371, 1304, 1226 and 907 cm-1; [α]D
27 = –47° (c 0.1, CHCl3) 

{lit.1 [α]D
20 = +60° (c 0.12, EtOH), 99.3% ee, (R)}; HPLC (Daicel Chiralcel OD-H, hexane/i-PrOH = 9/1, 

flow rate = 1.0 mL/min, 254 nm): tR of (R)-1ca; 12.3 min (0%), tR of (S)-1ca; 17.3 min (>99%). 

 
(2S,4R)-5caa: yellow solid (1.2 mg, 3% yield, >99% ee); mp 66–71 °C; 1H NMR (400 MHz, CDCl3) δ 2.38 

(s, 1H), 2.49–2.59 (m, 2H), 4.88 (dd, J = 4.6, 9.6 Hz, 1H), 6.87 (d, J = 8.8 Hz, 1H), 7.20–7.41 (m, 11H), 



S11 
 

7.50 (d, J = 2.1 Hz, 1H); 13C NMR (101 MHz, CDCl3) δ 46.8, 73.4, 75.9, 113.2, 118.7, 126.1, 126.9, 128.0, 

128.3, 128.4, 128.6, 129.3, 130.4, 132.4, 139.8, 146.6, 153.9; IR (KBr) 3420, 3059, 3030, 2959, 2922, 1954, 

1888, 1698, 1601, 1572, 1475, 1448, 1406, 1339, 1261, 1231, 1128, 1070, 1020, 920, 818, 772, 758 and 

698 cm-1; [α]D
25 = +36° (c 0.06, CHCl3); HPLC (Daicel Chiralcel OJ-H, hexane/i-PrOH = 30/1, flow rate = 

1.0 mL/min, 254 nm): tR of (2S,4R)-5caa; 35.3 min (>99%), tR of (2R,4S)-5caa; 43.3 min (0%); Anal. 

Calcd for C21H17BrO2: C, 66.16; H, 4.49. Found: C, 66.51; H, 4.71. 

 

 

 

(S)-2,3-Dihydro-6-methyl-2-phenyl-4H-1-benzopyran-4-one (1da) 1 and 

(2S,4R)-3,4-dihydro-2,4-diphenyl-6-methyl -2H-1-benzopyran-4-ol (5daa). 
(S)-2,3-Dihydro-6-methyl-2-phenyl-4H-1-benzopyran-4-one (1da) 1 and 

(2S,4R)-3,4-dihydro-6-methyl-2,4-diphenyl-2H-1-benzopyran-4-ol (5daa) were obtained from (S)-4 (4.2 

mg, 5.1 μmol), [Rh(cod)OH]2 (1.2 mg, 2.6 μmol), 6-methylchromone (2d) (27.2 mg, 0.170 mmol), 

phenylboronic acid (3a) (166 mg, 1.36 mmol), deoxygenated dichloromethane. (0.50 mL) and 

deoxygenated water (0.30 mL) at 30 °C for 2 h by the general procedure described above. 

  

(S)-1da: white solid (35.2 mg, 87% yield, 99.6% ee); mp 108 °C; 1H NMR (400 MHz, CDCl3) δ 2.33 (s, 

3H), 2.87 (dd, J = 2.9, 16.9 Hz, 1H), 3.05 (dd, J = 13.3, 16.9 Hz, 1H), 5.44 (dd, J = 2.9, 13.3 Hz, 1H), 6.99 

(d, J = 8.2 Hz, 1H), 7.30–7.47 (m, 6H), 7.86 (d, J = 2.6 Hz, 1H); 13C NMR (101 MHz, CDCl3) δ 20.3, 44.6, 

79.4, 117.8, 120.4, 126.0, 126.5, 128.6, 128.7, 130.9, 137.1, 138.8, 159.5, 192.1; IR (KBr) 3358, 3033, 

2895, 1934, 1699, 1614, 1573, 1494, 1375, 1313, 1226 and 907 cm-1; [α]D
25 = –47° (c 0.1, CHCl3) {lit.1 

[α]D
20 = +68° (c 0.16, EtOH), 99.0% ee, (R)}; HPLC (Daicel Chiralcel OD-H, hexane/i-PrOH = 9/1, flow 

rate = 1.0 mL/min, 254 nm): tR of (S)-1da; 8.0 min (99.8%), tR of (R)-1da; 9.7 min (0.2%). 

 
(2S,4R)-5daa: white solid (3.0 mg, 6% yield, >99% ee); mp 70–74 °C; 1H NMR (400 MHz, CDCl3) δ 2.28 

(s, 3H), 2.32 (s, 1H), 2.48–2.68 (m, 2H), 4.88 (dd, J = 2.5, 11.5 Hz, 1H), 6.89 (d, J = 8.3 Hz, 1H), 

7.04–7.43 (m, 12H); 13C NMR (101 MHz, CDCl3) δ 20.7, 47.4, 73.6, 75.5, 116.6, 126.1, 126.8, 127.1, 

127.6, 127.7, 128.1, 128.2, 128.5, 130.3, 130.3, 140.5, 147.5, 152.7; IR (KBr) 3369, 3059, 3030, 2957, 

2920, 1954, 1890, 1810, 1616, 1601, 1585, 1495, 1448, 1416, 1339, 1277, 1229, 1132, 1070, 1020, 920, 

864, 818, 773, 754 and 700 cm-1; [α]D
21 = +39° (c 0.06, CHCl3); HPLC (Daicel Chiralcel OJ-H, 

hexane/i-PrOH = 9/1, flow rate = 1.0 mL/min, 254 nm): tR of (2S,4R)-5daa; 10.7 min (>99%), tR of 

(2R,4S)-5daa; 14.7 min (0%); Anal. Calcd for C22H20O2: C, 83.51; H, 6.37. Found: C, 83.30; H, 6.63. 



S12 
 

 

(–)-6-Chloro-2,3-dihydro-7-methyl-2-phenyl-4H-1-benzopyran-4-one (1ea) 7 and 

(2S*,4R*)-6-chloro-3,4-dihydro-2,4-diphenyl-7-methyl-2H-1-benzopyran-4-ol (5eaa). 
(–)-6-Chloro-2,3-dihydro-7-methyl-2-phenyl-4H-1-benzopyran-4-one (1ea) 7 and 

(2S*,4R*)-6-chloro-3,4-dihydro-2,4-diphenyl-7-methyl-2H-1-benzopyran-4-ol (5eaa) were obtained from 

(S)-4 (4.2 mg, 5.1 μmol), [Rh(cod)OH]2 (1.2 mg, 2.6 μmol), 6-chloro-7-methylchromone (2e) (33.1 mg, 

0.170 mmol), phenylboronic acid (3a) (166 mg, 1.36 mmol), deoxygenated dichloromethane (0.50 mL) and 

deoxygenated water (0.30 mL) at 40 °C for 1.5 h by the general procedure described above. 

 

(–)-1ea: white solid (41.6 mg, 90% yield, 99.8% ee); mp 112–114 °C; 1H NMR (400 MHz, CDCl3) δ 2.39 

(s, 3H), 2.88 (dd, J = 3.0, 17.0 Hz, 1H), 3.05 (dd, J = 13.1, 17.0 Hz, 1H), 5.45 (dd, J = 2.9, 13.1 Hz, 1H), 

6.96 (s, 1H), 7.39–7.47 (m, 5H), 7.88 (s, 1H); 13C NMR (101 MHz, CDCl3) δ 20.9, 44.3, 79.7, 119.9, 120.2, 

126.1, 126.7, 127.9, 128.9, 128.9, 138.4, 145.3, 159.8, 190.7; IR (KBr) 3360, 3069, 2895, 1693, 1610, 1560, 

1456, 1337, 1238, 1217 and 907 cm-1; [α]D
25 = –43° (c 0.1, CHCl3); HPLC (Daicel Chiralcel OD-H, 

Hexane/i-PrOH = 9/1, flow rate = 1.0 mL/min, 254 nm): tR of (–)-1ea; 10.2 min (99.9%), tR of (+)-1ea; 

19.0 min (0.1%). 

 
(2S*,4R*)-5eaa: white solid (4.9 mg, 8% yield, 94.2% ee); mp 62–68 °C; 1H NMR (400 MHz, CDCl3) δ 

2.30 (s, 1H), 2.37 (s, 3H), 2.48–2.59 (m, 2H), 4.88 (dd, J = 4.5, 9.6 Hz, 1H), 6.88 (s, 1H), 7.21–7.42 (m, 

11H); 13C NMR (101 MHz, CDCl3) δ 20.0, 47.0, 73.3, 75.8, 118.8, 126.1, 126.3, 126.4, 126.9, 127.7, 127.9, 

128.2, 128.3, 128.5, 137.4, 140.0, 146.8, 153.2; IR (KBr) 3362, 3061, 3032, 2956, 2912, 1948, 1886, 1616, 

1564, 1485, 1448, 1398, 1339, 1240, 1213, 1163, 1069, 1022, 918, 864, 824, 773 and 698 cm-1; [α]D
21 = 

+29° (c 0.1, CHCl3); HPLC (Daicel Chiralcel OD-H, hexane/i-PrOH = 9/1, flow rate = 1.0 mL/min, 254 

nm): tR of (2R*,4S*)-5eaa; 8.8 min (2.9%), tR of (2S*,4R*)-5eaa; 11.3 min (97.1%); Anal. Calcd for 

C22H19ClO2: C, 75.32; H, 5.46. Found: C, 75.06; H, 5.79. 

 

 

 

(S)-2,3-Dihydro-7-(methoxymethoxy)-2-phenyl-4H-1-benzopyran-4-one (1ga).8 

 



S13 
 

(S)-2,3-Dihydro-7-(methoxymethoxy)-2-phenyl-4H-1-benzopyran-4-one (1ga) was obtained from (S)-4 

(4.2 mg, 5.1 μmol), [Rh(cod)OH]2 (1.2 mg, 2.6 μmol), 7-(methoxymethoxy)chromone (2g) (35.1 mg, 0.170 

mmol), phenylboronic acid (3a) (166 mg, 1.36 mmol), deoxygenated dichloromethane (0.50 mL) and 

deoxygenated water (0.30 mL) at 30 °C for 2 h by the general procedure described above. 

(S)-1ga: white solid (44.0 mg, 91% yield, 99.4% ee); mp 78–79 °C; 1H NMR (400 MHz, CDCl3) δ 2.84 (dd, 

J = 2.9, 16.9 Hz, 1H), 3.04 (dd, J = 13.3, 16.9 Hz, 1H), 3.48 (s, 3H), 5.21 (d, J = 0.8 Hz, 2H), 5.44 (dd, J = 

2.9, 13.3 Hz, 1H), 6.72 (m, 2H), 7.38–7.49 (m, 5H), 7.86 (m, 1H); 13C NMR (101 Hz, CDCl3) δ 44.4, 56.4, 

79.9, 94.1, 103.6, 111.2, 115.6, 126.1, 128.7, 128.8, 128.8, 138.7, 163.2, 163.6, 190.7; IR (KBr) 3346, 3031, 

2890, 1683, 1607, 1574, 1489, 1368, 1304, 1226 and 907 cm-1; [α]D
25 = –69° (c 0.1, CHCl3); HPLC (Daicel 

Chiralcel OD-H, hexane/i-PrOH = 9/1, flow rate = 1.0 mL/min, 254 nm): tR of (S)-1ga; 11.7 min (99.7%), 

tR of (R)-1ga; 16.8 min (0.3%). Although this enantiomer had not been reported, the absolute configuration 

became clear by absolute configuration of (S)-1fa. 

 

 

 

(S)-2,3-Dihydro-7-hydroxy-2-phenyl-4H-1-benzopyran-4-one (1fa).9 

 

A solution of (S)-1ga (27.3 mg, 96.0 µmol) in 5.0 mL CH2Cl2 was treated with diluted HCl (0.10 mL of 

conc. HCl in 1.0 mL of CH2Cl2) at room temperature for 4 days under atomospheric condition. Then, H2O 

(5.0 mL) was added to the solution and the resulting mixture was extracted with EtOAc. The combined 

organic layers were dried over Na2SO4, filtrated with suction and concentrated under reduced pressure. The 

residue was purified by silica gel column chromatography (hexane/EtOAc = 1/1) to give (S)-1fa as a white 

solid (20.3 mg, 88% yield, 99.0% ee); mp 186–187 °C; 1H NMR (400 MHz, CDCl3) δ 2.85 (dd, J = 2.8, 

16.8 Hz, 1H), 3.06 (dd, J = 12.8, 16.8 Hz, 1H), 5.47 (dd, J = 2.8, 13.2 Hz, 1H), 6.34 (br, 1H), 6.49 (d, J = 

2.4 Hz, 1H), 6.57 (dd, J = 2.4, 8.6 Hz, 1H), 7.37–7.49 (m, 5H), 7.87 (d, J = 8.8 Hz, 1H); 13C NMR (101 

MHz, CDCl3) δ 44.3, 79.9, 103.5, 110.7, 115.0, 126.1, 128.8, 128.9, 129.4, 138.7, 163.1, 163.7, 191.2; IR 

(KBr) 3426, 3111, 3035, 2958, 2725, 1653, 1578, 1495, 1366, 1337, 1300, 1230, 1259, 1169, 1115, 1003, 

858 and 806 cm-1; [α]D
22 = –134° (c 0.1, CHCl3) {lit.9 [α]D

26 = +63.8° (c 0.14, MeOH), 97% ee, (R)}; 

HPLC (Daicel Chiralcel AD-H, Hexane/i-PrOH = 9/1, flow rate = 1.0 ml/min, 254 nm): tR of (R)-1fa; 15.5 

min (0.5%), tR of (S)-1fa; 17.0 min (99.5%). 

 

 

 

 

 



S14 
 

 

5,7-Dimethoxychromone (2h).10, 11 

  
2-Hydroxy-4,6-dimethoxyacetophenone (1.96 g, 10.0 mmol) , N, N-dimethylformamide dimethyl acetal 

(1.55 g, 1.73 mL, 12.9 mmol) and o-xylene (7.5 mL) were added to the flame-dried 50 mL two-necked, 

round-bottomed flask under nitrogen. The mixture was heated at reflux for 4 h. Then, the reaction mixture 

was cooled to 0 °C and the precipitates were separated by filtration. The precipitates, conc. H2SO4 (2.5 mL) 

and H2O (11 mL) were added to 50 mL two-necked, round-bottomed flask. The mixture was heated at 

reflux for 2 h under atmospheric condition. Then, the mixture was cooled to room temperature and 

neutralized by saturated aqueous Na2CO3 solution. The resulting mixture was extracted with CH2Cl2. The 

combined organic layers were dried over Na2SO4, filtrated with suction and concentrated under reduced 

pressure. The residue was purified by recrystallization (CH2Cl2/hexane) to give 2h as a red crystal (1.82 g, 
88% yield): mp 137–139 °C; 1H NMR (400 MHz, CDCl3) δ 3.87 (s, 3H), 3.93 (s, 3H), 6.18 (d, J = 6.0 Hz, 

1H), 6.35 (d, J = 2.3 Hz, 1H), 6.43 (d, J = 2.3 Hz, 1H), 7.60 (d, J = 6.0 Hz, 1H); 13C NMR (101 MHz, 

CDCl3) δ 55.6, 56.3, 92.7, 96.0, 110.2, 114.4, 152.5, 160.0, 160.9, 163.8, 176.5; IR (KBr) 3520, 3059, 3009, 

2976, 2943, 2843, 1655, 1599, 1570, 1462, 1420, 1400, 1286, 1217, 1159, 1113, 1178, 1057, 949, 864 and 

824 cm-1. 

 

 

 

(S)-2,3-Dihydro-5,7-dimethoxy-2-phenyl-4H-1-benzopyran-4-one (1ha).12 

 

(S)-2,3-Dihydro-5,7-Dimethoxy-2-phenyl-4H-1-benzopyran-4-one (1ha) was obtained from (S)-4 (1.2 mg, 

1.5 μmol), [Rh(cod)OH]2 (0.34 mg, 0.75 μmol), 5,7-dimethoxychromone (2h) (61.9 mg, 0.300 mmol), 

phenylboronic acid (3a) (293 mg, 2.40 mmol), deoxygenated toluene (1.0 mL) and deoxygenated water 

(0.50 mL) at 60 °C for 3 h by the general procedure described above. 

(S)-1ha: white solid (79.1 mg, 93% yield, 99.6% ee); mp 144–145 °C; 1H NMR (400 MHz, CDCl3) δ 2.76 

(dd, J = 2.9, 16.5 Hz, 1H), 3.01 (dd, J = 13.2, 16.5 Hz, 1H), 3.81 (s, 3H), 3.88 (s, 3H), 5.40 (dd, J = 2.9, 

13.2 Hz, 1H), 6.08 (d, J = 2.3 Hz, 1H), 6.15 (d, J = 2.3 Hz, 1H), 7.38–7.46 (m, 5H); 13C NMR (101 MHz, 

CDCl3) δ 45.5, 55.5, 56.0, 79.1, 93.1, 93.4, 105.9, 126.0, 128.6, 128.7, 138.7, 162.2, 164.9, 165.9, 189.1; 

IR (KBr) 3325, 3063, 2966, 2941, 2885, 2842, 1676, 1609, 1570, 1468, 1423, 1371, 1259, 1217, 1178, 

1159, 1111, 1167, 823, 766 and 700 cm-1; [α]D
20 = –29° (c 0.1, CHCl3) {lit.12 [α]D

22 = –28° (c 2.0, 



S15 
 

MeOH-CH3Cl, 1:1), (S)}; HPLC (Daicel Chiralcel OD-H, hexane/i-PrOH = 9/1, flow rate = 1.0 mL/min, 

254 nm): tR of (S)-1ha; 19.5 min (99.8%), tR of (R)-1ha; 26.0 min (0.2%). 

 

 

 

(S)-(–)-Pinostrobin (6).12 

  

(S)-5,7-Dimethoxy-2-phenyl-4-chromanone (1ha) (100 mg,  0.352 mmol), aluminium chloride (188 mg, 

1.41 mmol) and acetonitrile (7.0 mL) were added to the flame-dried 25 mL two-necked, round-bottomed 

flask under argon and the mixture was heated at reflux for 3 h. Then, the reaction mixture was cooled to 

room temperature. 4.0 mL of 2 M HCl aq. was added and the resulting mixture was extracted with EtOAc. 

The combined organic layers were washed with water, brine, dried and evaporated. The residue was 

purified by silica gel column chromatography (hexane/EtOAc = 2/1) to give (S)-6 as a yellow solid (85.2 

mg, 90% yield, 99.6% ee): mp 95–96 °C; 1H NMR (400 MHz, CDCl3) δ 2.83 (dd, J = 3.0, 17.2 Hz, 1H), 

3.10 (dd, J =13.0, 17.2 Hz, 1H), 3.82 (s, 3H), 5.43 (dd, J = 3.0, 13.0 Hz, 1H), 6.08 (d, J = 2.3 Hz, 1H), 6.09 

(d, J = 2.3 Hz, 1H), 7.40–7.46 (m, 5H), 12.03 (s, 1H); 13C NMR (101 MHz, CDCl3) δ 43.4, 55.7, 79.2, 94.3, 

95.1, 103.1, 126.1, 128.9, 138.4, 162.8, 164.1, 168.0, 195.8; IR (KBr) 3061, 3032, 2970, 2934, 1645, 1620, 

1580, 1443, 1381, 1340, 1261, 1157, 1090, 993, 961, 916, 887, 841, 800, 766, 743 and 698 cm-1; [α]D
21 = 

–49° (c 0.1, CHCl3) {lit.12 [α]D
22 = –48° (c 1.0, CHCl3), (S)}; HPLC (Daicel Chiralcel OD-H, 

hexane/i-PrOH = 9/1, flow rate = 1.0 mL/min, 254 nm): tR of (S)-6; 12.5 min (99.8%), tR of (R)-6; 17.3 min 

(0.2%). 

 

 

 

(R)-2,3-Dihydro-5,7-dimethoxy-2-phenyl-4H-1-benzopyran-4-one (1ha).12 

 

(R)-2,3-Dihydro-5,7-dimethoxy-2-phenyl-4H-1-benzopyran-4-one (1ha) was obtained from (R)-4 (4.2 mg, 

5.1 μmol), [Rh(cod)OH]2 (1.2 mg, 2.6 μmol), 5,7-dimethoxychromone (2h) (35.1 mg, 0.170 mmol), 

phenylboronic acid (3a) (207 mg, 1.70 mmol), deoxygenated toluene (1.0 mL) and deoxygenated water 

(0.50 mL) at 40 °C for 1 h by the general procedure described above. 

(R)-1ha: white solid (44.4 mg, 92% yield, 99.4% ee); [α]D
21 = +29° (c 0.1, CHCl3) {lit. 12 [α] D

22 = –28° (c 

2.0, MeOH-CH3Cl, 1:1), (S)}; HPLC (Daicel Chiralcel OD-H, hexane/i-PrOH = 9/1, flow rate = 1.0 



S16 
 

mL/min, 254 nm): tR of (S)-1ha; 20.0 min (0.3%), tR of (R)-1ha; 25.7 min (99.7%). 

(R)-(+)-Pinostrobin (6).12 

 

(R)-(+)-Pinostrobin (6) was obtained from (R)-1ha (50.0 mg,  0.176 mmol), aluminium chloride (93.8 mg, 

0.703 mmol) and 3.5 mL of acetonitrile by the procedure described for (S)-6. 

(R)-6: yellow solid (42.2 mg, 88% yield, 99.2% ee); [α]D
19 = +49° (c 0.1, CHCl3) {lit.12 [α] D

22 = –48° (c 

1.0, CHCl3), (S)}; HPLC (Daicel Chiralcel OD-H, hexane/i-PrOH = 9/1, flow rate = 1.0 mL/min, 254 nm): 

tR of (S)-6; 10.4 min (0.4%), tR of (R)-6; 16.0 min (99.6%). 

 

 

 

 

 

 

 



S17 
 

NMR and HPLC charts 
1H NMR (400 MHz, CDCl3)

(S)-1aa
O

O

Ph

 
 
 
 

13C NMR (101 MHz, CDCl3)

(S)-1aa
O

O

Ph

 



S18 
 

HPLC 

 

(S)-1aa

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

O Ph

O

  

 

 

 

 

(±)-1aa

 
 

 

 

 

 



S19 
 

. 

1H NMR (400 MHz, CDCl3)

(2S,4R)-5aaa

O Ph

HO Ph

 

 

 

 

13C NMR (400 MHz, CDCl3)

(2S,4R)-5aaa

O Ph

HO Ph
13C NMR (101 MHz, CDCl3)

 



S20 
 

H-H COSY 

 

 
 
 
 



S21 
 

HSQC 

 

 

 
 



S22 
 

HMBC 

 



S23 
 

HPLC 

 

(2S,4R)-5aaa

O Ph

HO Ph

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

 
 

 

(±)-trans-5aaa

 
 

 

 

 



S24 
 

 

1H NMR (400 MHz, CDCl3)

(S)-1ab

O

O

 

 

 

 

13C NMR (400 MHz, CDCl3)

(S)-1ab

O

O

13C NMR (101 MHz, CDCl3)

 



S25 
 

HPLC 

 

(S)-1ab

O

O

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

 
 

 

 

(±)-1ab

 

 

  

 

 



S26 
 

 

(2S,4R)-5abb

O

HO

1H NMR (400 MHz, CDCl3)

 

 

 

 

13C NMR (101 MHz, CDCl3)

(2S,4R)-5abb

O

HO

13C NMR (400 MHz, CDCl3)101

 



S27 
 

HPLC 

 

 

(2S,4R)-5abb

O

HO
Chiralcel AD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

 
 

 

 

 

(±)-trans-5abb

 
 

 

 



S28 
 

 

(2S,4R)-5abb

O

HO

13C NMR (400 MHz, CDCl3)1H NMR (400 MHz, CDCl3)

O

O

OMe

(–)-1ac

 

 

 

13C NMR (101 MHz, CDCl3)

O

O

OMe

(S)-1ac

O

O

OMe

13C NMR (101 MHz, CDCl3)

(–)-1ac

 

 



S29 
 

HPLC 

 

O

O

OMe

(–)-1ac
Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

 
 

 

 

(±)-1ac

 
 

 



S30 
 

 

1H NMR (400 MHz, CDCl3)

O

HO

OMe

OMe

(2S*,4R*)-5acc

 

 

 

 

13C NMR (101 MHz, CDCl3)

O

HO

OMe

OMe

(2S*,4R*)-5acc

 



S31 
 

HPLC 

 

O

HO

OMe

OMe

(2S*,4R*)-5acc

Chiralcel AD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

 

 

 

 

 

(±)-trans-5acc

 
 

 



S32 
 

 

13C NMR (101 MHz, CDCl3)1H NMR (400 MHz, CDCl3)

O

O

OMe

(–)-1ad

 

 

 

(–)-1ad

13C NMR (101 MHz, CDCl3)

O

O

OMe

 

 



S33 
 

HPLC 

 

O

O

OMe

(–)-1ad

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 0.3 mL/min.

 
 

 

 

(±)-1ad

 
 

 

 



S34 
 

 

1H NMR (400 MHz, CDCl3)

O

O

(S)-1ae

 

 

 

 

13C NMR (101 MHz, CDCl3)

O

O

(S)-1ae

 



S35 
 

HPLC 

 

O

O

(S)-1ae

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

 

 

 

 

(±)-1ae

 
 

 



S36 
 

 

1H NMR (400 MHz, CDCl3)

O

HO

(2S,4R)-5aee

 

 

 

 

O

O

F

1H NMR (400MHz, CDCl3)

O

HO

(2S,4R)-5aee

13C NMR (101 MHz, CDCl3)

 



S37 
 

HPLC 

 

O

HO

(2S,4R)-5aee

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

 

 

 

 

(±)-trans-5aee

 



S38 
 

 

O

O

F

1H NMR (400 MHz, CDCl3)

(–)-1af

 

 

 

 

O

O

F

13C NMR (101 MHz, CDCl3)

(–)-1af

 



S39 
 

 

O

O

F(–)-1af

19F NMR (376 MHz, CDCl3)

 

 

 

 

 

 

 



S40 
 

HPLC 

 

O

O

F
(–)-1af

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 0.5 mL/min.

 
 

 

(±)-1af

 
 

 

 



S41 
 

 

1H NMR (400 MHz, CDCl3)

O

HO

F

F

(2S*,4R*)-5aff

 

 

 

 

13C NMR (101 MHz, CDCl3)

O

HO

F

F

(2S*,4R*)-5aff

 



S42 
 

 

19F NMR (376 MHz, CDCl3)

O

HO

F

F

(2S*,4R*)-5aff

 

 

 



S43 
 

HPLC 

 

O

HO

F

F

(2S*,4R*)-5aff

Chiralcel AD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

 
 

 

(±)-trans-5aff

 
 

 

 

 



S44 
 

 

1H NMR (400 MHz, CDCl3)

O

O

F

(–)-1ag

 

 

 

 

13C NMR (101 MHz, CDCl3)

O

O

F

(–)-1ag

 



S45 
 

 

19F NMR (376 MHz, CDCl3)

O

O

F

(–)-1ag

 

 

 

 

 

 



S46 
 

HPLC 

 

O

O

F

(–)-1ag

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 0.5 mL/min.

 
 

 

 

(±)-1ag(±)

 

 

 

 

 

 

 



S47 
 

 

1H NMR (400 MHz, CDCl3)

O

HO
F

F

(2S*,4R*)-5agg

 

 

 

 

13C NMR (101 MHz, CDCl3)

O

HO
F

F

(2S*,4R*)-5agg

 



S48 
 

 

19F NMR (376 MHz, CDCl3)

O

HO
F

F

(2S*,4R*)-5agg

 

 

 

 



S49 
 

HPLC 

 

O

HO
F

F

(2S*,4R*)-5agg

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 0.5 mL/min.

 

 

(±)-trans-5agg

 
 

 

 



S50 
 

 

O

O

Ph

Cl

1H NMR (400 MHz, CDCl3)

(S)-1ba

 

 

 

 

O

O

Ph

Cl

13C NMR (101 MHz, CDCl3)

(S)-1ba

 



S51 
 

HPLC 

 

O

O

Ph

Cl

(S)-1ba

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

 

 

 

 

 

(±)-1ba(±)

 

 

 

 

 



S52 
 

 

1H NMR (400 MHz, CDCl3)

O Ph

HO Ph
Cl

(2S,4R)-5baa

 

 

 

 

13C NMR (101 MHz, CDCl3)

O Ph

HO Ph
Cl

(2S,4R)-5baa

 



S53 
 

HPLC 

 

O Ph

HO Ph
Cl

(2S,4R)-5baa

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

 

 

 

(±)-trans-5baa

 

 

 

 



S54 
 

 

1H NMR (400 MHz, CDCl3)1H NMR (400 MHz, CDCl3)

(2S,4R)-5caa
O

O

Ph

Br

(S)-1ca
O

O

Ph

Br

 

 

 

 

1H NMR (400 MHz, CDCl3)13C NMR (101 MHz, CDCl3)

(2S,4R)-5caa
O

O

Ph

Br

1H NMR (400 MHz, CDCl3)

(S)-1ca
O

O

Ph

Br

 13C NMR (101 MHz, CDCl3) 

 



S55 
 

HPLC 

 

(2S,4R)-5caa
O

O

Ph

Br

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

(S)-1ca
O

O

Ph

Br

 
 

 

(±)-1ca(±)

 

 

 

 

 



S56 
 

 

1H NMR (400 MHz, CDCl3)

O Ph

HO Ph
Br

(2S,4R)-5caa

 

 

 

 

13C NMR (101 MHz, CDCl3)

O Ph

HO Ph
Br

(2S,4R)-5caa

 



S57 
 

HPLC 

 

O Ph

HO Ph
Br

(2S,4R)-5caa

Chiralcel OJ-H column
hexane/2-propanol = 30/1
f low rate 1.0 mL/min.

 

 

 

 

(±)-trans-5caa(±)

 
 

 

 



S58 
 

 

1H NMR (400 MHz, CDCl3)

O

O

Ph
(S)-1da

 

 

 

 

13C NMR (101 MHz, CDCl3)

O

O

Ph
(S)-1da

 



S59 
 

HPLC 

 

O

O

Ph
(S)-1da

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

 
 

 

(±)-1da

 
 

 

 

 



S60 
 

 

1H NMR (400 MHz, CDCl3)

O

O

Ph
(S)-1da

1H NMR (400 MHz, CDCl3)

O Ph

HO Ph

(2S,4R)-5daa

 

 

 

 

13C NMR (101 MHz, CDCl3)

O Ph

HO Ph

(2S,4R)-5daa

 



S61 
 

HPLC 

 

(±)-1da

O Ph

HO Ph

(2S,4R)-5daa

Chiralcel OJ-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

 

 

 

(±)-trans-5daa

 
 

 

 

 

 

 

 



S62 
 

 

1H NMR (400 MHz, CDCl3)

O

O

Ph

Cl

(–)-1ea

 

 

 

 

13C NMR (101 MHz, CDCl3)

O

O

Ph

Cl

(–)-1ea

 



S63 
 

HPLC 

 

O

O

Ph

Cl

(–)-1ea

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

 

 

 

(±)-1ea

 
 

 



S64 
 

 

1H NMR (400 MHz, CDCl3)

O Ph

HO Ph
Cl

(2S*,4R*)-5eaa

 

 

 

 

13C NMR (101 MHz, CDCl3)

O Ph

HO Ph
Cl

(2S*,4R*)-5eaa

 



S65 
 

HPLC 

 

O Ph

HO Ph
Cl

(2S*,4R*)-5eaa

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

 

 

 

(±)-trans-5eaa

 
 

 

 

 



S66 
 

 

1H NMR (400 MHz, CDCl3)

O

O

PhMOMO
(S)-1ga

 

 

 

 

13C NMR (101 MHz, CDCl3)

O

O

PhMOMO
(S)-1ga

 



S67 
 

HPLC 

 

(±)-trans-5eaa

O

O

PhMOMO
(S)-1ga

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

 
 

 

 

(±)-1ga(±)

 

 

 

 

 

 



S68 
 

 

1H NMR (400 MHz, CDCl3)

O

O

PhHO
(S)-1fa

 

 

 

 

13C NMR (101 MHz, CDCl3)

O

O

PhHO
(S)-1fa



S69 
 

HPLC 

 

O

O

PhHO
(S)-1fa

Chiralcel AD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

 

 

 

 

(±)-1fa(±)

 
 

 

 



S70 
 

 

O

OOMe

MeO
2h

1H NMR (400 MHz, CDCl3)

 

 

 

 

O

OOMe

MeO
2h

13C NMR (101 MHz, CDCl3)

 



S71 
 

 

1H NMR (400 MHz, CDCl3)

O

OOMe

PhMeO

(S)-1ha

 

 

 

 

13C NMR (101 MHz, CDCl3)

O

OOMe

PhMeO

(S)-1ha

 



S72 
 

HPLC 

 

O

OOMe

PhMeO

(S)-1ha

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

 
 

O

OOMe

PhMeO

(R)-1ha

 



S73 
 

HPLC 

 

O

OOMe

PhMeO

(±)-1ha

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

(±)

 

 

 

 

 



S74 
 

 

1H NMR (400 MHz, CDCl3)

O

OOH

PhMeO
(S)-(–)-pinostrobin(S)-6

 

 

 

 

13C NMR (101 MHz, CDCl3)

O

OOH

PhMeO
(S)-(–)-pinostrobin(S)-6

 



S75 
 

 

HPLC 

 

O

OOH

PhMeO
(S)-(–)-pinostrobin

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

(S)-6

 

 

 

O

OOH

PhMeO
(R)-(+)-pinostrobin(S)-6(R)-6

 



S76 
 

 

HPLC 

 

O

OOH

PhMeO
(±)-pinostrobin

Chiralcel OD-H column
hexane/2-propanol = 9/1
f low rate 1.0 mL/min.

(±)-6

 
 

 

 

 

 

 

 

 



S77 
 

Confirmation of relative conformation of 5aaa. 
 

The relative configuration of 1,2-,1,4-adduct 5aaa was determined to be (2S,4R)- form by NOESY 

spectrum or DFT calculation of the chemical shifts of 1H NMR as follows. In the NOESY spectrum (page 

S78), no NOE was observed between hydroxy proton and H2, which suggested trans relationship between 

two phenyl groups (Figure S1). This finding was used for the determination of the relative configurations of 

the other 5 compounds. 

O

H3ax

H3eq

O

H

H2

(2S,4R)-5aaa

H

H2Ar,o-

H4Ar,o- H

O

H3ax

H3eq

OH2

H

H2Ar,o-

H

H

H4Ar,o-

observed NOE predicted NOE in (2S,4S)-5aaa

(2S,4S)-5aaa

 
Figure S1 

Just to be safe, the relative configuration of 5aaa was confirmed by DFT calculations of chemical shifts 

(pages S79, S80). The chemical shifts (shielding tensors) of 5aaa in both diastereomers were calculated at 

the GIAO/B3LYP/6-311++G(d,p) after optimization at the B3LYP/6-31G(d) using Gaussian 03. Although 

the calculated shielding tensors of (2S,4R)-5aaa are highly correlated with the observed chemical shifts of 

5aaa in 1H NMR, those of (2S,4S)-5aaa are not lined up with observed ones at the H2, H3 and H5 protons 

(Figure S2). Therefore, the calculated results indicate that the relative configuration of 5aaa is (2S,4R)- 

form.  

 

Figure S2  Correlation of 1H chemical shift between observed and calculated values. 

R² = 0.9611

2

3

4

5

6

7

8

23 25 27 29 31

Shielding tensor of (2S,4S)-5aa (calc.) ppm

C
he

m
ic

al
 s

hi
ft 

(o
bs

d.
) 

ppm

H2

H5

H3eq
H3ax

 
 

R² = 0.9972

2

3

4

5

6

7

8

23 25 27 29 31

Shielding tensor of (2S,4R)-5aa (calc.) 

1 H
 C

he
m

ic
al

 s
hi

ft 
(o

bs
d.

) 

ppm

ppm

(2S,4R)-5aaa

O Ph

HO Ph
H3ax

H3eq

H2

H5

H6

H8

H7 O Ph

HO Ph
H3ax

H3eq

H2

H5

H6

H8

H7

(2S,4S)-5aaa



S78 
 

NOESY 

 

 



S79 
 

Correlation of chemical shifts between calculated values of (2S,4R)-5aaa and observed 
values. 
 

δ 1H values of NMR of 5aaa, which was suspected to be 
(2S,4R)-form.  
The chemical shifts were measured in CDCl3. 
 
Calculated values of (2S,4R)-5aaa. 
The structure was optimized at the B3LYP/6-31G(d). 
Shielding tensors were calculated at the 
GIAO/B3LYP/6-311++G(d,p). 

 
 
1H NMR 

H δ 1H Shielding tensora) 

2 4.91 26.8654 

3eq 2.54 29.6813 

3ax 2.59 29.9312 

5 7.35 24.1264 

6 7.01 24.7409 

7 7.28 24.3510 

8 6.99 24.6701 

2Ar, o- 7.31  24.4040b) 

4Ar, o- 7.35  24.2822b) 
a) GIAO/B3LYP/6-311++G(d,p)//B3LYP/6-31G(d).  
b) Average of ortho-protons. 
 
 
13C NMR 

C δ 13C Shielding tensora) 

2 75.6 101.5741 
3 47.2 125.7145 
4 73.5 103.3493 

4a 127.2 47.8664 
5 127.7 47.8088 
6 121.1 56.9964 
7 129.5 47.4528 
8 116.8 60.9940 

8a 154.8 18.8446 
2Ar, o- 126.1  51.7899b) 

4Ar, o- 127.0  49.0948b) 
2Ar, ipso 140.3 33.0732 
4Ar, ipso 147.3 26.6303 

a) GIAO/B3LYP/6-311++G(d,p)//B3LYP/6-31G(d).  
b) Average of ortho-carbons. 
 

(2S,4R)-5aaa

O

HO
H3ax

H3eq

H2

H5

H6

H8

H7
2
344a

5
6

7

8

8a

H2Ar,o-

H2Ar,o-

2Ar,o-

2Ar,ipso

H4Ar,o-

H4Ar,o-

4Ar,ipso
4Ar,o-

4Ar,o-

2Ar,o-

R² = 0.9972

2

3

4

5

6

7

8

23 25 27 29 31

Shielding tensor of (2S,4R)-5aa (calc.) 

1 H
 C

he
m

ic
al

 s
hi

ft 
(o

bs
d.

) 

ppm

ppm

R² = 0.9966

30

50

70

90

110

130

150

170

0 20 40 60 80 100 120 140

13
C

 C
he

m
ic

al
 s

hi
ft 

(o
bs

d.
) 

ppm

Shielding tensor of (2S,4R)-5aa (calc.) ppm



S80 
 

Correlation of chemical shifts between calculated values of (2S,4S)-5aaa and observed 
values. 
 

δ values of 1H NMR of 5aaa, which was suspected to be 
(2S,4R)-form.  
The chemical shifts were measured in CDCl3. 
 
Calculated values of (2S,4S)-5aaa. 
The structure was optimized at the B3LYP/6-31G(d). 
Shielding tensors were calculated at the 
GIAO/B3LYP/6-311++G(d,p). 

 
 
 1H NMR 

H δ 1H Shielding tensora) 

2 4.91 26.1672 

3eq 2.54 30.1872 

3ax 2.59 29.2292 

5 7.35 24.8937 

6 7.01 25.0079 

7 7.28 24.5019 

8 6.99 24.7155 

2Ar, o- 7.31  24.2474b) 

4Ar, o- 7.35  24.1753b) 
a) GIAO/B3LYP/6-311++G(d,p)//B3LYP/6-31G(d).  
b) Average of ortho-protons. 
 
 
 
13C NMR 

C δ 13C Shielding tensora) 

2 75.6 103.0183 
3 47.2 126.1932 
4 73.5 104.1029 

4a 127.2 49.7654 
5 127.7 45.0343 
6 121.1 57.6883 
7 129.5 47.7891 
8 116.8 60.6858 

8a 154.8 18.0955 
2Ar, o- 126.1  51.3416b) 

4Ar, o- 127.0  51.1403b) 
2Ar, ipso 140.3 32.2266 
4Ar, ipso 147.3 26.5441 

a) GIAO/B3LYP/6-311++G(d,p)//B3LYP/6-31G(d).  
b) Average of ortho-carbons. 
 

(2S,4S)-5aaa

O

HO
H3ax

H3eq

H2

H5

H6

H8

H7
2
344a

5
6

7

8

8a

H2Ar,o-

H2Ar,o-

2Ar,o-

2Ar,ipso

H4Ar,o-

H4Ar,o-

4Ar,ipso
4Ar,o-

4Ar,o-

2Ar,o-

R² = 0.9611

2

3

4

5

6

7

8

23 25 27 29 31

Shielding tensor of (2S,4S)-5aa (calc.) ppm

C
he

m
ic

al
 s

hi
ft 

(o
bs

d.
) 

ppm

Shielding tensor of (2S,4S)-5aa (calc.) ppm

C
he

m
ic

al
 s

hi
ft 

(o
bs

d.
) 

ppm

R² = 0.995

30

50

70

90

110

130

150

170

0 20 40 60 80 100 120 140



S81 
 

Cartesian Coordinates of 5aaa. 
 
(2S,4R)-5aaa 
Optimization was performed at the B3LYP/6-31G(d). Optimized structure was verified from the vibrational 

frequency calculations in which no imaginary frequency. 

 

Total energy: -961.515200562 a.u. 

 

C   1.851936    3.830164   -0.781381 

C   0.612665    3.222271   -0.945584 

C   0.370598    1.960670   -0.384411 

C   1.371882    1.303673    0.350532 

C   2.614131    1.937081    0.499528 

C   2.862622    3.187834   -0.057366 

H   2.030826    4.807579   -1.221656 

H  -0.186234    3.699686   -1.504477 

H   3.380695    1.428086    1.076520 

H   3.832210    3.660059    0.071324 

O  -0.883846    1.450524   -0.585300 

C   1.108808   -0.047532    1.006617 

C  -0.423935   -0.250547    1.095263 

H  -0.647589   -1.278210    1.395793 

H  -0.831314    0.417101    1.867175 

C  -1.113796    0.074403   -0.231509 

H   -0.679840   -0.554270   -1.021829 

C  -2.609498   -0.155789   -0.181649 

C  -3.125135   -1.413152   -0.517318 

C  -3.487498    0.848457    0.241980 

C  -4.493317   -1.668360   -0.421763 

H  -2.451586   -2.196572   -0.858683 

C  -4.856920    0.595841    0.330746 

H  -3.094483    1.830953    0.482541 

C  -5.363863   -0.662989    0.002796 

H  -4.879338   -2.648864   -0.687773 

H  -5.529620    1.385868    0.654517 

H  -6.430850   -0.857502    0.071409 

C   1.763464   -1.221997    0.267696 

C   2.015344   -2.412479    0.966766 

C   2.077234   -1.166682   -1.095405 

C   2.562464   -3.517200    0.316509 

H   1.793715   -2.459778    2.027548 

C   2.620244   -2.276472   -1.748576 

H   1.912387   -0.249107   -1.651673 

C   2.864582   -3.455249   -1.046002 

H   2.756749   -4.428327    0.876724 

H   2.858671   -2.211246   -2.807001 

H   3.291606   -4.316910   -1.552351 

O   1.664076   -0.074569    2.331913 

H   1.300069    0.692136    2.804180 

 

 

 

 

 



S82 
 

(2S,4S)-5aaa 

Optimization was performed at the B3LYP/6-31G(d). Optimized structure was verified from the vibrational 

frequency calculations in which no imaginary frequency. 

 

Total energy: -961.514398710 Hartree 

 

C  -1.369547    3.959084   -0.404588 

C  -0.120647    3.351116   -0.441973 

C   0.013291    2.004483   -0.079186 

C  -1.109225    1.248941    0.297744 

C  -2.354717    1.889865    0.339041 

C  -2.494772    3.230843   -0.003687 

H  -1.464868    5.005494   -0.682463 

H   0.770820    3.896194   -0.736331 

H  -3.225632    1.313228    0.636194 

H  -3.471500    3.704136    0.035394 

O   1.282809    1.494158   -0.141789 

C  -0.963194   -0.221632    0.677868 

C   0.408013   -0.738891    0.186413 

H   0.613536   -1.714760    0.643730 

H   0.410685   -0.887990   -0.898354 

C   1.513783    0.255843    0.548985 

H   1.464001    0.451135    1.628743 

C   2.894127   -0.241248    0.181226 

C   3.651525   -0.943683    1.125580 

C   3.414132   -0.057549   -1.105592 

C   4.901819   -1.464414    0.790134 

H   3.262639   -1.079305    2.132834 

C   4.667504   -0.571161   -1.439709 

H   2.840207    0.505316   -1.834821 

C   5.413492   -1.279209   -0.495246 

H   5.479323   -2.005113    1.535367 

H   5.063373   -0.415556   -2.439996 

H   6.389955   -1.677848   -0.757176 

C  -2.102368   -1.079656    0.104059 

C  -2.237299   -1.256112   -1.281993 

C  -3.029193   -1.703606    0.946236 

C  -3.254299   -2.050471   -1.806528 

H  -1.552166   -0.754770   -1.960333 

C  -4.050095   -2.501830    0.421894 

H  -2.966160   -1.546181    2.017790 

C  -4.163749   -2.683259   -0.954738 

H  -3.339445   -2.172733   -2.883160 

H  -4.758918   -2.976215    1.095791 

H  -4.956481   -3.303952   -1.363562 

O  -0.970974   -0.250517    2.117997 

H  -0.825532   -1.174926    2.385054 

 

 

 

 

 

 

 

 

 

 

 



S83 
 

 

References.  

(1) Chem, J.; Chen, J.-M.; Lang, F.; Zhang, X.; Cun, L.; Zhu, J.; Deng, J.; Liao, J. J. Am. Chem. Soc. 

2010, 132, 4552. 

(2) Elikascef, M. A. F.; Nosseir, M. H.; Mohamed, H.-E.-D. M. J. Chem. Soc. 1975, 404. 

(3) Imahuku, K.; Honda, M.; McOmie, J. F. K. Synthesis 1987, 199. 

(4) Biddle, M. M.; Lin, M.; Scheidt, A. K. J. Am. Chem. Soc. 2007, 129, 3830. 

(5) Kumar, D.; Patel, G.; Mishra, M. B.; Varma, S. R. Tetrahedron Lett. 2008, 49, 6974. 

(6) Chen, F. C.; Chen, T. S.; Ueng, T. J. Chinese Chem. Soc. (Taiwan) 1692, 9, 308. 

(7) Chandrasekhar, S.; Vijeender, K.; Reddy, K. V. Tetrahedron Lett. 2005, 46, 6991. 

(8) Maruyama, K.; Tamanaka, K.; Nishinaga, A. Tetrahedron Lett. 1989, 30, 4145. 

(9) Kawasaki, M.; Asano, Y.; Katayama, K.; Inoue, A.; Hiraoka, C.; Kakuda, H.; Tanaka, A.; Goto, M.;   

Toyooka, N.; Kometani, T. J. Mol. Catal. B: Enzym. 2008, 54, 93. 

(10) Oonura, H.; Nishizama, Y.; Jokura, H. 1993, JP 05,301,813. 

(11) Vasconcelos, J. M. J.; Silva, A. M. S.; Cavaleiro, J. A. S. Phytochemistry 1998, 49, 1421. 

(12) Hodgetts. J. K. Tetrahedron 2005, 61, 6860. 

 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


